





























































































































Mathematics (Algebra and Statistics)

Total mark
Test |1
10
KB Choose the correct answer from those given : (3 marks)
PR —2 X2 = coneriiah s
@5 ® 5 x? )5 % @9 x?
2 The algebraic term b® = oo
(@)3xbxb ®b+b+b (©bxbxb @3 xb
[BlIf5a=45andba=1sthenb=vicieiac
1 1 1
OF ® 5 ©= @9
Complete the following : (3 marks)
1 The number that lies half the way between % s % ignndia
2 The result of subtracting — 3 X2 from 5 X2 is «---oooeone
4y 2 _
B3] -+ 2y = e where y #0
Using the distribution property , find the value of : (2 marks)
3 3 w63
7 X 9+ 7 X 6 7
I3 Subtract : 5 X% +y?* -3 Xy from 3Xy+5X2+y? (2 marks)

L ACLMORSSCRIEET] ESr PR, | 9



Mathematics

Total mark
Test
10
KB Choose the correct answer from those given : (3 marks)
1 1If the algebraic expression : a X3 +5X2%+7 X-9is of the second degree
,then LS smervs shes e
(@1 ®3 ©-2 (d) zero
2 a'F AR = e
(@3 a’ (b)3a © a’ da+3
3 If the area of a rectangle is 24 X2 and its length is 8 X2 , then its width is ----ooeeoeoe
@3 x> ®3x ©)3x* @3
Complete the following : (3 marks)
1.3 X decreases 5 X by ----oeveee
2 The degree of the absolute term in any algebraic expression is -«
3. _5_4 W isssitansiinina —_ 1
] _2 i b fadsa
E’Ifa—2 ’ b_5 » = (2 marks)
> find the numerical value of the expression : (a+b) +~¢
BB Add3x2+2Xy-5and-2X%-3Xy+X (2 marks)

> then find the numerical value of the result when : X=—1andy =2

L JCLMORSSCRIET] SR | 10



Mathematics (Geometry)

Total mark
1
10
Choose the correct answer from those given : (3 marks)
1 In the opposite figure : D g
BE bisects £ ABC > BA // CD E
and m (£ ABE) = 32° 33
sthenm (2, ©) = . z
(@)32° (b) 64° (©) 60° (d) 80°
2 fAABC=AXYZ >-m(£LX)+m(£Y)=140° sthen m (L C) = ----vee-
(@) 180° (b) 140° (©)90° (d) 40°
3 In the opposite figure : A
AD AR s s B 5
@1:1 ®1:2
©1:3 @1:4 3 .
Complete the following : (3 marks)
1 If two coplanar straight lines are perpendicular to a third one » then the two straight lines
e,
2 The diagonal of the rectangle divides its surface into two - triangles.

3 Any two right-angled triangles are congruent if -------------

ED In the opposite figure : (2 marks)
AO//HD//YX //CB
>AD =DX =XB and AC =18 cm.
Find the length of : AY

2} In the opposite figure : X (2 marks)

YZ=XZ XL=YL

sm (£ XLY)=130° Z 130°
Prove that : AXLZ=AYLZ
> then find : m (£ XLZ) Y

L JCLMORSSCRIEET] SR | 1



Mathematics

Total mark
Test B
10
KN Choose the correct answer from those given : (3 marks)

1 In the opposite figure :
BEAC ,BE//CD
and m (£ ABE) = 130°

sthenm (£ C) = «evvvvmvuesnse
(@) 130° (b) 40°
©) 50° (@) 90°

2 If L, and L, are two coplanar straight lines where L; L, =@ >then L| and L, are .-
@ intersecting. @ perpendicular. @ parallel. @ coincident.

3 In the opposite figure :
What is the value of X ? 2X
@) 40° ® 60°
(©) 80° (@ 100° 86

Complete the following : (3 marks)

1 TAABC=AXYZ >thenAB-XY =
2 If ACDE = ALMN > the perimeter of ACDE=12cm. s LM =4 cm. > MN =5 cm.
sthen LN = oo

3 The straight line which 1s perpendicular to one of two parallel straight lines is -+ to
the other straight line in the plane.

D In the opposite figure : (2 marks)
BC=AD ,AC=AE G
sm (£ B)=m (£ D)=90° E
and m (£ CAB) = 57° [X
Find the measures of the unknown angles in A ADE ) + s s B

2} In the opposite figure :

AD//BC ,EECA
>m (£ DAE) = 70° and m (£ DAB) = 50°
Find the measures of the angles of the triangle ABC

L AGLMORSSCRIT] SN | 12



Answers of Mathematics

(Algebra and Statistics)

“Answers of Test ] 1.
2© 3/®)

L1 IO,

1) % or 0.625 2]8 x2 3)6y?

(4 3Xyéfvxzé,yz
—3Xy+54(2+)_yz
6Xy
Answers of Test E
L1 IRMGY, 21(® 3/(b)
@2x 2 zero .?._Tsor—l%

1
B4 D) d-(Grd)b-Bob-pd-3

(4 ] B2 42 Xy LOWS
—2X2-3 X4 X
The sum=X>-Xy+X-5

> the numerical value = (- 1)2~(—- Dx2+(=1)-5=142~-1=-5=-3

L JGLMORSSCRIEET] ES PR, || 21 |



Prep.

Answers of Mathematics

(Geometry) 1
Answers of Test n
Bid 2@ 3®
1 parallel ‘2 congruent

'3 the hypotenuse and a side of one triangle are congruent to the corresponding parts of the
other triangle.

[E) Since : AO//HD// YX // CB

, AB and AC are two transversals to them.
»AD =DX =XB

sthen: AH=HY=YC=18 —6cm.
»then : AY = 12 cm.

B AXLZ=AYLZ X
XL =YL
because{ XZ =YZ

g Z 130°
LZ 1s a common side
sthen :m (£ XLZ)=m (£ YLZ):M: 115°
Y
Answers of Test n
Bi© 2)(© 3@
1 zero 2]3cm. '3 perpendicular
From A ABC : m (£ ACB) = 180° — (90° + 57°) = 33° ¢
A ABC = A EDA (Hypotenuse and one side). R
>m(Z E)=m (£ BAC) =57° 5
>m(Z EAD)=m (£ ACB) = 33° D A B

I8 m (£ B) =m (£ DAB) = 50° (alternate angles)

m (£ C)=m (£ EAD) = 70° (corresponding angles)
m (£ BAC) = 180° — (50° + 70°) = 60°

L JGLMORSSCRIEET] ES PR, || 22
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| Model @

First: Choose the correct answer:

» The number that has no multiplicative inverse is ............

(a (® zero ©-1 @2

4x increases (-4x) by ............

6 8x (3 zero ® -8x ) 16x

The number that lies at half distance between % and 2 iS o

GE bk e} o,
Second: Complete:

437D = =8a’b

The coefficient of the algebraic term =3X?is ................

gx ................ =1

Third: Answer the following:

Use the Distribution Property to find the value of:

2 1042 %2342
17 17

Find the rational number lying at:

One fourth of the way between ; and '—73 (from the greater side)

PONY - Prep 1 First — Algebra



_ Model €

First: Choose the correct answer:

If % lies at the middle of the way between x and %,then X = oo ;
1 3 5 7
03 O3 @3 O3
@) The additive inverse of "X = 5" is ........... .
6-5-x ®D-x+5 ®5 ¢) x-5
2 _ 1 _
If Ex =10, then §X .................
01 (® zero 04 @5
Second: Complete:
3a + 4b decreases 5b+ 3a by ... .
The degree of the absolute term in any algebraic expression is ...............
21 -1
5

Third: Answer the following:
Subtract: 5 x*- 4x+ 13 from 3x’+ 4x

Use the Distribution Property to find the value of:

ix10+ix16+i
9 9 9

PONY - Prep 1 First — Algebra 3



hodel €

First: Choose the correct answer:

)If 2=1,then 2a - 2b= ...
(a JE ®2 0O1 @O0
The algebraicterm b= ...
@ 3xbxb ®b+b+b ©bxbxb @ 3xb
The result of subtracting 7a from 15a -4 s ...
©-8a+4 ®8a+4
©®8a-4 @ -22a-4

Second: Complete:

If the algebraic term: 4xy** is of the fifth degree,then k=........... .

The multiplicative inverse of the rational number ——g IS e

If5x™+2x"=7x6thenm+n= ...

Third: Answer the following:

What is the expression that should be subtracted from:
-x *+ 2x— 1to get3x’- 5

Find the rational number lying at:

One fourth of the way between % and 1 (from the smaller side)

PONY - Prep 1 First — Algebra



| Model @

First: Choose the correct answer:

If 5a=45andba=1,thenb=......
1 1 1
4t ®3 (C T ®9
x _4 5x
2 y T ,then W .................
5 25
o 03 CE= o1
The algebraic term "4 a? y?" is of the .............. degree.
€ second (® third © fourth @) fifth
Second: Complete: )
-5
The multiplicative inverse of the number (7) [1J— .

The rational number that lies at the third of the way between 8 and 12
from the side of the smaller numberis ..............

The result of subtracting "-3 a% from "5 a2 is ...
Third: Answer the following:
Ifx=-3 ,y = and z = -3 ,then find the numerical value of each of

the followmg.
@ xyz O xy +yz

PONY - Prep 1 First— Algebra 5



Model

First: Choose the correct answer:

) (% +é) is the multiplicative inverse of ...............

5 12 31 35

0 5 ol © 35 O3
3. _ 5

If7x 42,then FX = :
©70 ® 45 © 30 © 10
If the algebraic term: 9 x y"is of the third degree,thenn= ... :
01 ®?2 O3 ©4

Second: Complete:

If the degree of the algebraic term y*™ is the degree of the algebraic

term 5X*y* thenm= ...

Third: Answer the following:
Reduce to the simplest form:
2y -3x-7y-5x-y+x

6+x*- x?

6  PONY —Prep 1 First - Algebra



Model 1
First:
4
zero ) 8x (3 i
Second:
-4a’b 0-3 <
Third:
5 5
—(10+23+1)=—x34=10
17 17
5 -3
Di = | (=
istance |7 (5 )|
= |£—z | =§
7 7 7
The number =§—lx§=£
7 4 7 7
Model 2
First:
> -x+5 5
6
Second:
b zero S
11
Third:
-2x?+ 8x -13

fn0s1641 =2 x27-12

Model 3
First:
0 bxbxb ¢ 8a-4
Second:
5 __5 o 12
3

Third:

-4x? + 2x + 4
Distance = | 1—1 =£
3 3
the number =1+_x£=i
3 4 3 2
Model 4
First:
1
9 1 2 fourth
Second:
1 9 832
Third:
-1 3 3
T x2x-3=2
(a) : X . X 2
-1 3 3
(b (?Xz) + (ZX-B)
-1 -9 -10 1
=—+4 —= _=_2_
4 4 4 2
0-2x2 - 2x+2
Model 5
First:
0> 70 2
31
Second:
3 -2x? o -13x%y
Third:
@ -6y-7x 4x7- 3x +1

PONY - Prep 1 First — Algebra 7



| Model @

First: Choose the correct answer:

A

\

In the opposite figure:

AD :AB = ...
e 11 ®1:2
O 13 G 14
If L, and L, are to coplanar straight lines where L, N L, = @, then L,
and L, are ...
€ intersecting (® perpendicular
@® parallel () coincident
In the opposite figure: /
What is the value of x? X,
€ 40° (® 60°
® 80° @) 100°

80°

Y

Second: Complete

The two right-angled triangles are congruent if ...........cccocooriiiricenenn.
If a straight line intersects two parallel straight lines,
then ., are supplementary.

ABCD is a parallelogram,m(2 A) = 60°,then m(£B) = ...ccoocovvvrreern.ne. :

2  PONY -1 Prep — First Term



g\ \

Third: Answer the following:

If DE // CA,m(2 D) = 125°
m(< A) = 55°,Find m(z C)

In the opposite figure: c

m(2 DAE) = 35°,m(£ B) = m(£ D) = 90°

© Prove that A ABC= A EDA 1

(® Find with proof: m(z C) 35° -
D A .

PONY -1 Prep — First Term 3



_ Model @

First: Choose the correct answer:

If A ABC = ALMN, then m(2 B) = m(« ......)

€ LMN (® MNL ® LNM G NLM
If L, and L, are to coplanar straight lines,L, L L,and L, L L, then ...
eL//L, OL 1L,

© L, is coincides L, @ L, intersects L,
In the opposite figure:
AB // CD,m(« D) = 60°

2X° B
then X = oo, A >
@ 60° () 30°
® 120° ) 80° 60°
D - C

Second: Complete:

If a straight line cuts two parallel straight lines, then each two

alternate angles are .......ccccoovvvinnienene.
The diagonal of the rectangle divides its surface into two
............................... triangles.

If AB N CD = @, in the same plane,then ..., )

4 PONY -1 Prep - First Term



B W A/

Third: Answer the following:

In the opposite figure: AL 2
AD // TB ,AD bisects 2 BAE, m(2B) = 52°
Find: m(«BAD) , m(«(Q)
o5
C B

In the opposite figure:

AF //DE //XY //BC,
AD = DX = XB,AC=9 cm.
Find the length of AY.

\/

PONY -1 Prep - FirstTerm 5



_ Model (&

First: Choose the correct answer:

If L, and L, are to coplanar straight lines where L, N L, = @,then L,

andL,are ...

€ intersecting (® perpendicular

@ parallel () coincident

If A ABC = ALMN, m(£A) = 50°, m(£M) = 60°, m(£C) = .o
€ 60° (® 50° ® 70 G 10°
The two straight lines perpendicular to a third straight line is the same
plane are ... .

€) perpendicular (9 intersecting

@ parallel () coincident

Second: Complete

If a straight line cuts two parallel straight lines, then each two

corresponding angles are ........... .
ABCD is a parallelogram, m(£ A) = 85°,then m(£B) = ...
The two triangle are congruent if two sides and ...,

are congruent with their corresponding parts in the other triangle.

6  PONY -1 Prep — First Term



g\ \

Third: Answer the following:

F E

In the opposite figure:

— - - — 40° b

BA // CD, CD // EF, c

m(4E) = 40°, m(«B) = 140°, 140°

Find: m(<ECB) B A

In the opposite figure: C

m(< DAE) = 35°, m(«B) =m(«D) =90°

€) Prove that A ABC = A EDA |

1350 []

D A B

PONY -1 Prep — First Term 7



_ Model @

First: Choose the correct answer:

If A ABC = A XYZ, m(£A) + m(£B) = 100°, then m(22) =

€ 50° (® 80° ® 90 ¢ 100°

If L, and L, are to coplanar straight lines, L, //L,,L, L L,,thenL,
.......................... L,
(a R ®// 0= ©O=

The two straight lines perpendicular to a third straight line in the same

plane are .........ccccc........

€) perpendicular (9 intersecting

® parallel () coincident

Second: Complete:

IfF XY N ZF = @, in the same plane,then ...................

If a straight line cuts two parallel straight lines, then each two interior

anglesare ...

If A ABC = ALMN, m(zA) = 70°, m(«M) = 50°, m(«B) =

8  PONY -1 Prep — First Term



g\ \

Third: Answer the following:

E
In the opposite figure:
A /* D
AD // CB, AD bisects £ BAE, m(£B) = 52° *
Find: m(«BAD) , m(«C)
R 52°
C B

If ACn BD = {M}, MB = MC,AM = DM, m(£A) = 30° m(«DM() = 85°
Mention the condition of congruency of AA AMB and DMC, then
find m(£B)

PONY -1 Prep — First Term 9



Model @

First: Choose the correct answer:

If A ABC = ALMN, m(2A) = 50°, m(2M) = 60° , then M(£B) = .............. .
© 60° ® 50° ® 70° @ 10°

In the opposite figure:

A

\

AD:AB= ...
e 11 ®1:2
® 13 G 14

If L, and L, are to coplanar straight lines, L, 1

L3 and L2 1 L3 then ..o, .
eLl//L2 QDLIJ_L2

© L, is coincides L, @ L, intersects L,

Second: Complete:

ABCD is a rhombus, m(2 A) = 65°,then m(£C) = .o
The diagonal of the rectangle divides its surface into two ..........ccccc.ccc......
triangles.

If A ABC = A XYZ, m(2A) + m(2Y) = 100°, then m(£C) + m(22) = ............ °

10 PONY -1 Prep — First Term
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Third: Answer the following:

In the opposite figure:
— - - -

BA // CD , CD // EF ,m(«E) = 40°, m(«B) = 140°.
Find: m(2ECB)

In the following figure:

m(<A) = m(2C) = 90°,AB = BC = 5cm,AD = 3 cm.
@ Prove that: A ABD = A CBD

(® Find: the length of CD

PONY -1 Prep — First Term 11



Model 1
First:
1:2 parallel 400
Second:

hypotenuse and side are equal in

length

interior angles ¢ 120°

Third:
since DE //ﬁ
then m(2 C) = 180 - 125 = 55°
(interior angle)
in A A ABCand EDA

m(£D) =m(«£B) (Right angles)
AC=EA (Hypotenuse)
BC= DA

then A ABC = A EDA
then m(2 C) = (2 A) = 35°

Model 2
First:
LMN L //L,
30°
Second:

equal in measure
congruent

AB // CD

12 PONY -1 Prep - First Term

Third:

. - -
since DE // CA
then m(« BAD) = m(« B) = 52°
(alternate angles)
m(< C) = m(« DAE) = 52°
(Corresponding angles)
since AF // CD // XY //BC
e <~

, AB , AC are two
transversal to hem

, AD = DX = XB
then, AE = EY = YC =% = 3cm
then,AY = 6 cm

Model 3
First:
parallel 70° parallel
Second:
equal in measure 950

included angles

Third:

since CD // EF

then m(z E) = m(2 ECD) = 40°
(alternate angles)

since BA // CD

then m(z DCB) = 180 - 140 = 40°

(interior angles)
then m(z ECB) = 40 + 40 = 80°

parallel



-\

Model 4
First:

80° 1
Second:

parallel

Coed L
XY // ZF
Supplementary
50°
Third:

since DE // CA
then m(z BAD) = m(« B) = 52°
(alternate angles)
m(z C) = m(« DAE) = 52°
(Corresponding angles)
since ABn CD {m}
then m(z2 DM(Q) = m(« AMB)
(V.0.A)
in A A AMB and DMC
m(£ DMC) = m(2 AMB)
MB = MC
AM = DM
then, A AMB = A DMC
then m(« B) = 180 - (85+430) = 65°

Model 5
First:
800 12 OL //L,
Second:
650

congruent

160°
Third:

since DE // CA
then m(£ BAD) = m(£ B) = 52°
(alternate angles)
m(< C) = m(« DAE) = 52°
(Corresponding angles)

in A A ABD and CBD

AB=CB

m(£ A) =m(z C)

BD is a common side

then, A ABD = A CBD
then CD =AD = 3 cm

PONY -1 Prep — First Term 13
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Properties of the Multiplication operation in Q:

(1) Closure property:

The product of any two rational numbers is a rational number.
i.e.: Q is closed under multiplication operation.

(2) Commutative property:

If a and b are two rational numbers, then
axb=bxa

(3) Associative property:

If a, b and c are three rational numbers, then
(axb)yxc=ax(bxc)

(4) Multiplicative identity:

One is the multiplicative identity (multiplicative neutral element).
If ais a rational number, then
I1xa=ax1l=a

(5) Multiplicative inverse (reciprocal of the number):

a
b

inverse that is the number g, where: % X % =1

For any rational number - except zero there is a multiplicative

e Zero has no multiplicative inverse because ze% is undefined.

e Multiplying any rational number by zero equals to zero.

(6) Distribution property:

If a, b and c are three rational humbers, then
ax(b+c)=axb+axc
ax(b-c)=axb-axc




P Mathematics 15" Prep 15" term |

Properties of operations:

operation Addition | Subtraction | Multiplication| Division
Property
Closure Y d Y .
Commutative v x Y :
Associative v x Y .
Ldentity element v (0) * 7 (1) :
Inverse v x vexcept (0) x

OO~

[1] Complete:

1)
(2)
(3)
(4)
(3)

(6)
(7)
(8)

(9)

(10)

(11)
(12)

The multiplicative identity element inQis ...

The multiplicative inverse of ; IS

The multiplicative inverse of ? 1S

The multiplicative inverse of -6 is ...

The multiplicative inverse of 3% 1S

The multiplicative inverse of 0.51is ...
The multiplicative inverse of 11is ...

The multiplicative inverse of -1is ...

The multiplicative inverse of (— E]M 1S o

5

The multiplicative inverse of ‘— %‘ IS

The rational number that has no multiplicative inverse is ...

a

The rational number =

O ~

14

—1 has a multiplicative inverse if @ # ......




P Mathematics 15" Prep 15" term |

[2] Put (V) for the correct statement and (%) for the incorrect one:

(1) Every rational number has a multiplicative inverse. ( )
(2) The multiplicative inverse of a rational number is an integer.( )
(3) The multiplicative inverse of the number g is % ( )
(4) The multiplicative inverse of the number 2% is 5%. ()
(5) The multiplicative inverse of the number (;+gj is ‘;—? ()

O~

[3] Complete:

The number

The additive inverse

The multiplicative inverse

3
7

-4
9

-6

15




P Mathematics 15" Prep 15" term

[4] Complete:

W 2x(F)-Fn
@ 2x2-..

(3) 7 x SRR

4 -5 - -2

(B) iy x e - 1

(6) 2% S =1

(7) 0.8 x ...... -1

(8) 4 x ... - -5

(9) g-(2+-%) =-§ x 2 + ... x
(10) 5-35 3%

(11) If%=§‘rhen :_’y‘= ......
(12) If %—: 70 Then-%;= ......

...................................................... property

...................................................... property
...................................................... property
...................................................... property
...................................................... property
...................................................... property

...................................................... property
...................................................... property

...................................................... property

M Ix2-...

3) -2 x(-3) -
() [(-%) x5 -
@ F(Y-

16

@) T x2-..

4 2. (-%] N
©) #x(-3) -
(8) ZxF12= ...




P Mathematics 15" Prep 157 term |

[6] Find out the result of each of the following in the simplest form:

(1) g_; ...... 2) _%+g= ......
) (3 - @ Z-3-
®) 3+ (37 © 23
(7) zero + — = ...... (8) 1—%= ......

[7]1 Find out the result of each of the following in the simplest form:

(1) 3ixCo=- ... (2) 1} [-_;j —
(3) [_4;j < (s%j — (4) 35 (4%) N
(5) [_13 < ‘g‘ N (6) 0.6 x 1L - ..

[8] Find out the result of each of the following in the simplest form:

(1) —2%+%= ...... (2) —7%+%= ......
(3) —4; + 1% = e (4) —4% + (— 3%} = el
(5) —2% - [—38 = e (6) 6% + (-15) = ......

LY 17
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[9] Using the distribution property, find out the result of each of
the following in the simplest form:

5

12 12

(2) ;x 11+ gx 1 S

(3) jix74~£Lx5+~£LxG11)=mmemwmmemmmwmwmmmmmwmmmmwmwmmmwu

37 37 37

7 7

(4) —Z—x5-+———x9-————x21:m“mm”m”m“mm”m”m“m“m”m“m“m_m_m”m”m“m”m”m“m”m”m“m”m“m

12 12 12

(5) —Z—x6-+—z—x8-——z—:

13 13 D3

(1) §+3+§= ...... (2) EXGEQ= ......

(3) $+3,;5Jx(_—73)= ...... (4) —41+(—31]= ......

© [# PR © [t

1) 2.,
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(3) %xn=0 .......................................................................................................................................................
() Zxn=2
(5) nx[5+(_?3ﬂ=nx—+5x(_?3j ..........................................................................................................

[12] If a=2 b=3 and 2 . find in the simplest form the value of:

[13]1If © 3. Y~ % and z=-3_ find in the simplest form the
numerical value of each of the following:

(1) X Y Z e

(2) X Y b Z Y e

[14] If "2 and 7 '3 find in the simplest form the value of the
expression:




P Mathematics 15" Prep 157 term |

Sheet (S)
Inll||°"“°“’ om RBationg] H|||||||'s

The distance between two numbers 2 and b5 is:
|2-5| = |5-2| = 3 length units

The distance between two numbers -2 and 3 is:
|-2-3] = |3+2| = 5 length units

From the side of the smallest number: s + f (g - s)

From the side of the greatest number: g - f (g - s)

e TCC=DO Y ~

Ex (1): Find the rational number lying at the middle of the way
between 3 and 7.

The number = s+ f (g=S) =
Or
The number =g =f (g =S) = .

O~

Ex (2): Find the rational number lying at the half-way between
3

and 7.

The number = s+ f (g =S) = .

O~

Ex (3): Find the rational number lying at one third of the way
between 2 and 8.

From the side of the smaller number =s+f (g-s)=_ . ... . ...
From the side of the greatest number=g-f(g-s)= . . ...

O~

LY 20
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[1] Find the rational number in the middle of the way (half-way)

between:

(1) .g and .g ................................................................................................................................................

(2) ggam % ................................................................................................................................................

3) 5 amd L

4 = and g; ................................................................................................................................................

[2] Find the rational number lying at:

(1) One fourth of the way between ; and _73 from the side of the

smaller number.

(2) One third of the way between %3 and ; from the side of the

greater number.

(3) One third of the way between ; and 1% from the side of the

smaller number.

(4) One fifth of the way between % and %3 from the side of the

smaller number.

[3] Choose the correct answer:

(1) Ifaxg=g,a¢o,ﬂmnb=mwwwwwwmwmwmmwmwmmmmwmm
(a) 5 (b)O (c)a (d)1 (e) -a
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X x 2 _

(a) 1 (b) x (c) 3 (d) 10 (e) 2

(3) If %= 1,Then 2x —2y =
(a) 4 (b) 2 (c)1 (d)O0 (e) =

(4) If x+§=5+§,fhenx= .........................................................................................................

OF (b) 4 (0)1 @2 (@5

(5) Ifsa=45and ba=1,then b= .. ..
(a) L (b) (c) 1 (d5 (@9

(6) The number "‘; cQ if x#.....

(a) 3 (b) -3 (c)5 (d)-5 (e) 15

m

S and =2
[4] Find three rational numbers lying between 2 "9 3 . such that one
of them is an integer.

LY 22
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H"nlc Tonnss::l.:::]rale Exlmsl.m

The perimeter and the area of some shapes

[1] The square:

= P=S5x4=45 (coeff. = 4 and degree = 1°')

= A=Sx8S=8 (coeff. =1 and degree = 2"
[2] Rectangle:

T P=(t+w)x2=2((+au)

= A=¢xw=tw (coeff. = 1 and degree = 2")
[3] Parallelogram:

T P=(x+y)x2=2(x+y)

= A=bxh=bh
[4] Rhombus:

= P=Sx4=45

=~ A=Sxh=5h or A=%xdlxd2
[5] Triangle:

= P = the sum of all side lengths

%= Perimeter of equilateral triangle = 3 S
1

= If we denote one pound by x, if we have 3 pounds
x+x+x=3x (coeff. = 3 and degree = 1°')
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= The algebraic term is formed from the product of two or more
factors.

% The degree of the algebraic term is the sum of the indices of the
algebraic factors in this term.

= Any number is an algebraic term of zero degree.

“ The algebraic term has no algebraic factors is called the absolute
term.

= The algebraic expression consists of an algebraic term (monomial)
or more.

“ The degree of the algebraic expression is the highest degree of
its terms.

[1] Write the algebraic term that represent the area of each shape:

y a N

[2] Complete the table:

Algebraic term

Coefficient

Degree
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[3] Complete the table:

The Algebraic

expression Name
-3a’b MONOMTIAL
3x2+y BINOMIAL
Bx3-7x + 4 TRINOMIAL
2a® b + 3a b? - a®b? TRINOMIAL
x?y?-3xy* BINOMIAL
‘ a®b - 3a b3+ 2a® b? + b* QUADRILATERAL \
e TC=DO Y  ~
[4] Complete:
(1) The coefficient of algebraic term 3 x?yis . . and its degree is ...
(2) The coefficient of algebraic term %x3 yz%is ... and its
degreeis ...

(3) The degree of the absolute term in an algebraic expressionis ...

(4) The algebraic expression 5x? + 3 is of the ... degree.

O~

[6] Choose the correct answer:

(1) The degree of the algebraic term 2x3y?is ... ..

(a) second (b) third (c) fourth (d) fifth
(2) The coefficient of the algebraic term 3xy3z*is . ..
(a) 2 (b)3 (c) 6 (d)7
L 25
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(3) The degree of the algebraic expression 3x? + 3x* equals to the
degree of the algebraic expression ...
(a) 5xy+3y?z  (b) 2x%y? + 3x%y (c) 2xy + 3x*z (d) 5a®b + 4ab?

(4) The number of terms of the algebraic expression 3x?+5xy+6 is ..
(a)1 (b) 2 (c)3 (d) 4

(5) The .........operation is unclosed in the set of rational numbers.
(a) addition (b) subtraction (c) division (d) multiplication

(6) If the degree of the algebraic term 2a°b" is ninth, thenn=
(a) 8 (b) 6 (c)2 (d)9

(7) The algebraic termb3= .
(a)3bxb (b)b+b+b (c)bxbxb (d)3xb

O~

[6] Arrange the terms of the following algebraic expressions accord-
ing to the descending order of the indices of a:

(1) Ba+a®-7+a S e
(2) 2a*b?+5ba*-3b%a S e

O~

[7]1 Arrange the terms of the following algebraic expressions accord-
ing to the ascending order of the indices of x:

(1) Bx+x2-7+x3 S

(2) 2Xx2y2+ 5y x3 =3y X =
OO T~
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li.o Algebrale Tol".ls

% The algebraic terms are said to be like if they having the same
symbols and the same degree. Such as:

Like terms Unlike terms
= 2a , a and -5a &= 2x , -3x) and 7x°
& 2X2y , 4yX2 and —%xzy & 4x? , 5X)’ and )’Z

[1] Put (V) for the correct statement and (%) for the incorrect one:

1)

(3)
(4)
)
(6)
7)
(8)

The two algebraic terms x* and 2x are like terms.
(2) The two algebraic terms 3 a b2 and - a b? are like terms.

The two algebraic terms 7x? and 2x” are like terms.

2a+3a=5a?
7 x° -2 x%=5Hx?
8y*-5y=3y

3ab-3ba=zero

(
(
(
The two algebraic terms 3 a® b3 and -2 b* a? are like terms. (
(
(
(
(

)

)
)
)
)
)
)
)

O ~

[2] Find the result of each of the following:

1)
(3)
(5)
7)
(9)

SX+2 X (4)
4z-11z= (6)
2a+3a-4a= ... .. (8)
5x 3x _
e — (10)
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[3] Answer each of the following:

(1) Subtract y2 from -3y2
(2) Subtract -6x2y from 9x2y
(3) What is the iNCrease -2x of -BX? o
(4) What is the increase 3a2b of aZb?
(5) What is the decrease -3ab of 2ab? i

(6) Wha-l- is *he deCr‘eaSe 6x2y of _7x2y? ....................................................................................
OO ~

[4] Complete:

(1) The result of subtracting 3a from 7ais ...
(2) The result of subtracting 3x® from -5x%is ...
(3) The result of subtracting 7y* from zerois ...
(4) The result of subtracting -3a from 2ais ...
(5) Baincreases 3aby ...

(6) 7xincreases -3X by ...

(7) 4x decreases 7X by ...

(8) Bx decreases 3xby ...

(9) 2x decreases 4x by . while 2x
increases 4X by ...

(10) o + 2a% = 7a?

(11) 3x2 - = x?

(12) 202 + oo = zero

(13) 5a?b - = 7.@% b
(14) If 4x-y=11andy=3x,thenx =
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[5]1 If the sum of two terms is 12 x2 y one of them is 4 x2 y. Find
the other term.

[6] Reduce to the simplest form:

(1) 3a+2b+b5a+4b=

(2) 2X =4y = 9X = 3Y =

(3) 3X=By=X+2Y =

(4) 1I9m-4n+11m=-17n+9N=
(5) 4a+ab+ba-2b+6b-3a= .

DO~

[7] Reduce each of the following algebraic expressions:

(1) Bx + 4 - 3x% = 6x = 7Xx% = 1 =

LY 29
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[1] Find the sum of each of the following:

(1) 3x-2y+5andx+2y-2| (2) 3n®+5n-6and-n®-3n+3

(3) 3¢-4m+5nand 4m -5n-¢| (4) 3a*-2a’b+b’ and a3+4a?b-b3

[2] Find the sum:

(1) 3a + 2b - 5 , 2a - 7b + 4 , 5b - 4a + 3
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[3] Subtract:
(1)

x -

[4] What is the increase of:

2 from 2x - b

(2) 2x+6y-7 from 2x - By +2

(1) B5a + 7b than 3a - 2b| (2) x?-5x-1than3x%+2x-3
OO~
[6] What is the decrease of:
(1) 2a + 3b than 5b - 3a| (2) 3y?-2xy+x®than 3x2-5xy+y?
m
& 32
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[6] Subtract x + x2 - 5 from 2x2 + x - 3, then find the numerical
value of the result when x = 6
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Jinimying nd :nII.I::It:]lll..ﬂle Terms

[1] Multiply:

(1) 5xx3y =

(2) (3a)x7c =

(3) 2xx(-3x) SO
@) 8y?)x(-7y*) S e
G) axyxl33) =
) 53y*x2xy* =

(7) 5ab® x (- 2a%) =

(8) abx(-3a)x(-2b) =

©9) 233 x - 3x®)x - 5x*) S
(10) (- 2x)x 4x S

[2] If the symbols represent non-zero integers, find the quotient of
each of the following:

(1) 6a+2 =

(2) 10c +2c S

(3) 12x+(=X) =

@) 14)s7x=
L 34
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5) (- 25a%)+ (- 5a?)

(6) 24c3 + (- 24c9)
7) 9x°y*+6x}y =
(8) (— 3Za3b6)+ (— 4a3b2)

(9) 8m*nd = (— 4m nz) -

[3] Simplify:

1) %t“ « 34

2 S,

(@) Zatxaw® o
6xy? 28xy3

3 TS

(4) 3xgk o

[4] Choose the correct answer:

(1) 3a*bxbBa®h®x2a%=......
(a) 60a'lp? (b) 30a'°p? (c) 150a'%?
(2) (— 3x2y)2 X2Xy = ......
(a) - 18x°y3 (b) 18x°y3 (c) 6x3y?
(3) [ 6x3y?)+3x®y = ..
(a) -2x%y (b) 2xy (c) -2xy
L 35

(d) 30a°p3

(d) 9x3y?

(d) - 2x3y?
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(4) If 2b cmis the edge length of a cube, then its volume = . . cm’
(a) 4b? (b) 2p® (c) 4p® (d) 8p®
(5) If the area of arectangle is 24x® cm? and its length is 8x? cm, then
itswidthis ...
(a) 3x (b) 3x° (c) 4x (d) 4x°
OO ~

[5] Complete:

(1)9a° = 3ax......
(2) 36a°b® = 12a%0% x ......

(3) — 4c%d® = 2cd®x......

(4) 811% = ... = 2713
®)...... + 6a® = —4a*
(6) 36a’b* = ...... x 9a’b
m
L 36
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Illﬂﬂllll 4 [Meuemial iy an algsirals B

[1] Find the following products:

1 a@+1) =
) al@-2) =
(3) 3x(7y-42) =
(4) -3(y+3)=
(5) -2d7-3¢) =

(6) 2x(3x2 + 4y2) =
(7) -5x(@2x+y-32) =

(8) 3xy(2x2 —B5x%y — 4y2)

© Im¥(Z-3mi-4m?) =
1
(10) 3 X2(6X2 —-9xy - 3)’2) S
e TCC=DO T  ~
[2] Put in the simplest form:
(1) 3a(a - b)+ 4a(2a + b)
L 37
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(2) 3a(4a-2)-4a(3a-2)

[3] Simplify 2a(3a - 1) + 3a(a + 2), then find the numerical value of
the result when a = 1:

2a(3a - 1) + 3a(a + 2)
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l ¢ “

We have 3

ideas of the examples on this lesson

lsf

idea this is the general idea

[1] Find by direct products:

1)

(2)

(3)

(4)

)

(6)

7)

(8)

(9)

(10)

(11)

(x +3)(x+2)

(x-3)(x-2) =
(x+2)(x-5) =
(y-4)(y+5) -
(x+2)(x+4) -
(y-5)(y+2) =

(Bm - 2)(6m + 1)

Ax+0)@x+3) =
Ba+2b)2a-5b) =
b2 -4)62+2) =
=)@y =%) =
OO T~

39
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2" idea (special case of 1" idea)

[2] Find by inspection the expansion of each of the following:

(1) X+ 2P =

(2) (X4 3F =

(3)  (x+ 1 =
(4 (x=1F =
(B) Ry +3F =
) (@m=-7F =
(7)  GBX+ Y =
(8) (X =3y =
9)  @x+3yF =
(10) (=1 =m) =
(11) (- 4x-7Y S

O ~

3™ idea special case of 1°' idea

[3] Find by inspection the expansion of each of the following:

(1) (x+3)(x=3) =

(2) (k=) (x+4) =
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(3) (x=2)(x+2) =
(4) (@m-7)@m+7) =
(5) (6x+2y)(6x—2y) =
6) @+a)l@@-a) =
7) BE2+5y3)32-5y2) =
o Gol)bed) -

[4] Choose the correct answer:

(1) The middle term in the expansion of Bx-1is
(a) 3x (b) -6x (c) 6x (d) 6x?

(2) The middle term in the expansion of (a+30Fis ...

(a) 12ab (b) -12ab (c) 6ab (d) -6ab
(3) If @x+yF=4x%+kxy+y® thenk=......
(a) 2 (b) 4 (c)8 (d)6

(4) If x =-1,then the numerical value of (x + 1Wis

(a) zero (b) 1 (c) 2 (d) 3
(5) If x*=16,y*=9 and xy =12 then (x-yF =......
(a) 49 (b) 165 (c) -1 (d) 1
(6) If (x+yfF =26 and x* + y¥* =20, then xy =......
(a) 3 (b) 6 (c)9 (d) 12
L 41
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(7) If x+y=7,then the numerical value of x% +2xy + y% = ...

(a) 7 (b) 14 (c) 49 (d) 28
(8) If x—-y=3and x+y=5,then x* —y?* =......
(a) 2 (b) -2 (c)8 (d) 15
(9) If X= %,’rhen (X —2)(x +2)=......
(a) % -2 (-2 @ -+ @4
(10) If (x-3)(x+3)=x®+k,then k =......
(a) 9 (b) 6 (c) -9 (d) -6
(11) If (x-y)@x+y)=2x* +kxy-y? then k| =......
(a) -1 (b)1 (c)3 (d) 4
m

[6]1 Multiply, then find the numerical value of the expression when

~~
—
—
~
X
|
(8]
<
N
—_
X
+
(8]
<
-
]

() Gx+y)x+3y) =

(3) (x+4)(3x+2) S
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[6] Reduce (x-yf+2xy . then find the numerical value of the
_2 .

result when X=-1 gnd Y =

[7] Reduce = @x-2f +(x-2)(x + 2), then find the numerical value
of the result when X =-1:

[8] Simplify to the simplest form (2a-3)2a+3)+7

numerical value of the result when @ =-1:

. then find the
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" “' ic eXpressl i
M It qIalue Oll Illllllllllll
1S4

[1] If the symbols in the following expressions are non-zero numbers,
find the quotient in each case:

(1) 52 =10 by B =
(2) 4a® +6a by 2a S
(3) 12a°b+20ab® by 4ab =
(4) 1620 —24a%0® by 48%D =
(5) 12X +1BY by =3 =
(6) 24x° -18%% by - 6x° O

(7) 60x°® — 48x'° —12x3 py - 12%°

(8) 32x° - 48x3 + 72x7 by - 8x3

[2] Find the quotient of each of the following:

26x% + 14x*4 i i
(1) - R
18m* + 32m? i
(2) T g T
48x3 — 80x2 i
(3) 82 - T
L 44
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913m*4 - 181 m?

(4) 3| mz e OO
O T~
[3] Choose the correct answer:
(1) (X2+x)+x= ....... x#0
(a) zero (b) x (c) 2x+1 (d) x+1
(2) (15a+5)+5=......
(a) 3a (b) 10a (c) 3a+1 (d) 4a
3) (4a®-2a)+(2a)=...... L a%0
(a) - 242 (b) -22% +1 (c) 222 +1 (d) -1
4) (15x* +5x3)«5x3 = ...
(a) 3x® + x (b) 5x% +1 (c) 3x+1 (d) 4x*
(5) (3x2y— ...... )+3x y=Xx-2y
(a) 6x (b) 6x y? (c) 6y? (d) - 6x y?

(6) If (6x2y3 + Kk x y)+ 6x = x y3 - 12y x # 0, then k| =......
(a) -72 (b) -2 (c) 2 (d) 72

OO~
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Sheet (13
li'ililll aalgeirate eresson Iy A ey i

[1] Find the quotient of each of the following:

(1) x*+5x+6 by x+2

(2) y2 =9y +20 by y -4

(3) x*-5x-14 by x-7

(4) 2x? +13x + 15 by x +5
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(5) 3x* +2x -8 by 3x - 4

(6) X* —6—-x by x+2

2
[2] If the area of a rectangle is (15X +11x - 14) cm2 and its width
is (3X - 2) cm. Calculate its length.

(sz +7X - 15)

[3] If the area of a rectangle is cm2 and its length is

(x +5) cm. Find its width and calculate its perimeter when X = 3
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1rx=--%- yy = —} and z=-13 s find the numerical valueof : 4 Xy + z

—4x=1x3 4(-3) =-1-3=-4
-4x3x4+{ 3)

b|IfX= % yy=-— % s find in simplest form the value of :

(X—y)+ (X+Y) -3-9)-G+E))

-3+ )- (G-

-2

c Ifx=% sy =—= 3z =2 yfind the value of : sz 4

. Ifa=% 1b=_—2]- s find the value of : (a—b) = (a+b)

(30 - (3 ()« 3+ () =+ )+ (-3

EX Mahmoud Ezz Al deen




Ifx:% -:y=—-!i-andz=—2 ’

If the two rational numbers % and % are equal , find the value of X

B Solution 33X _
P

Ifa= = sb=-3 »without using calculator find the value of : 4a—6 b

C [henume.rica]valuc=4x%—6x}—5=3+15=18

Find in the simplest form the value of each of the following :

4x2

x=SX3

Wt

_8
9

@-15¢ +12% @ 0.18 - 25 %
D )-15L-_6l,151_.2 | (Soltion)
Solution 15 === s 12 5 s?[uﬂun
X o 1
_1s5l 1 _-61.5 _ 11_ -3 |[018== ,25%=1
& 1.8 11 3
11 4- 44 44" "44

O | 8 * . . a-b
9 Ifa= 1 b= 5 » find the numerical value of the expression : —-—¢

e B 1 G B8 —_7,1_7.2
=B~ pg=g 4" 2 a+b =g*7=3"%3
a-b —ixi:i
a+tb ~ 4.9 9

[EX:Mahmoud Ezz Al deen EXEXEXEY] 1 7 EEEEEIN01155343956 EXEE
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Find the rational number that lies halfway between : —é— and %

—

Find a rational number lying at :

(1) One fourth of the way between % . -% [from the side of the smaller number.
The distance between the two numbers
B -_-.5._(_%)1:1:5_ 1|=§
_l l - Y . L —_—
Then the number = +4 7 = ?+?_ b
One fifth of the way between -% y— % Jrom the side of the greater number.
C Solution
The distance between the two numbers Then the number
I 2V al-d ¢ e )=l =901
One tenth of the way between % ’ % Jfrom the side of the smaller number
0
The distance between the two numbers
e : Thenthenumber:%+'ilﬁx%=%+%
60 60

Find the number one fourth of the way between - and —I- from the side of the

4
smaller number.

F || Find the number that lies one third of the way between
smaller one.

% and % from the side of the

G Find the rational number that lies half way between % s %

H || Find the rational number that lies halfway between : 1 and %

2
EX Mahmoud Ezz Al deen XYY 18 FEETEE01155343956 LD
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@ three rational numbers lying between
A % and %
First 1X39 _5x10 _ 50
4x5 20x10 100

1x4 =4:»:10 _ 40
1x5 20x 10 100

Second

three rational numbers = 41 / 42 / 43

100 100 100

B | Find three rational numbers betweenl: %and%
1x3 3 x10 _ 30
First
™ 2x3 6 x10 60

1x2 _ 2 x10 s 20
3 x2 6 x10 60

Second

three rational numbers = —21 / 22 / 23
60 60 60
C | Write three rational numbers between : % and %
First 2X8 . 24
9x6 54
5x9 _ 45
Second 6x9 _ 54

24 25 26

three rational numbers 54 / 54 / 54

Xz Mahmoud Ezz Al deenEXSYYEY 19 )EETX0115534 3956 EEEEE
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What is the increase of
3X%-5X+2than7 X2-Xx-3

SKP=5i%42

Inurease:i;;{zl @ @
2

i g ga LS Ay 7X"—X-3

han =3 _4x2-4%x+5

S5OSO BSSHS0S6S
What is the increase of :

4X%-6X+5 than 7X*-X-9

?

g | Add the two expressions

7X-3y—-land2X+5y+3

2X+35y+3

9X+2y+2

C)l;l‘lj C“*‘“ alls -
U585 a5 sl 5 eVl en (e
sheall oo Lo (oA Le (g2

ClAdd:2X-6z+y 5 3y+2z-5X

Add:3 X% -5X+1land X*+X+3

Add:5X%2+y?*-3Xy and X>-2Xy+3y’

Example a Add the following expressions :
| 3X =4 42 %~1 y5X°-2X%+3 and 2-3Xx+x2

The first expression 3 X% — 414K =1
The second expression : —2 X" +5X° +3
The third expression + X%2-3x +2
The sum = 3 4 Ax3= X +4
[EX: Mahmoud Ezz Al deen A01155343356 FEEELE




$EEOSOOHSHS

E!aMP|BSubtract:SJC—3y+21 from 2y-z+7X

A ,
I
| Solution ’ : 2y -z +7X gbtract from *JQ
from 2= J
: @3 y@l 2@5 X Ja¥ Jhaadl A s
= Sy -3z+2X \_ ookl £ )

B | Subtract:y’+5y*-5y from 2y-y’+5y’
Subtract: 5 X2+y>-3Xy+1 from 6X2-2Xy+3y?

Sl:lhn!:ract:-—ZJ!CZ—S_‘)C3,*+4}¢'2 from 3}::2+23l:$y+4y2

EXMahmoud Ezz Al deen 11155343356
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A *2ax5b=(2x5) x(axb)=10ab
B .(sz)x(:«;_x):(sx3)x(x3><X)=15X3
C AN N\
2X (3X +5y)=QXx3X)+(2Xx3Yy)
=6X*+10Xy
3x + Sy
X 2x -t
The pmducl=6X'+ 10 Xy
Example a Find by inspection the product of each of the following :
2a+3)(5a+1)
The first  Product  Product The second
(a+3)BSa+1)= X + of + of + X
The first means  extremes The second
} ’ | |
=(2Zax5a)+ 3x5a+ 2axl1) + Ixl
= 10a’ + (15a+2a) + 3
=10a’+17a+3
Example Find the expansion of each of the following :
‘ 1 3a+5)° 2 2X-3y)
1 3a+5°=(3a)P’+(2x3ax5)+()’
=9a’+30a+25
2 2Xx-3y)=2%"-2x2Xxx3y)+ By)
=4 X -12Xy+9y
EXAMahmoud Fzz Al deen XY= 2 2 FETXEY:- 01155343956 S




Example E§ Find the product of each of the following :
1 2f-52l+5) 2 (5X+3y)(5X-3y)

3 (a®+2b)(a®-2b) 4(%a—%b)(%u+%h)

[ Solution | 1 @l-syl+5) =202 -52=4(>-25

2 (5X+3Y)GX-39=5X"-CBy)?=25Xx2-9y’

3 @+2b) @ -2b) =@)P*-2b’=a*-4b

4 (La-2b)(Fardn)=(+a)-($b)'=

[

¥
e

EEEEIN15534 3956 EXEETTE




Simplify : (y - 5) (y + 2)
|Solution ) (YRY) 2®y -5®y) (-5®2) = y¥¥-3y-10

}(2 2y —Ey- -3y -10

‘_Slmpllf}' to the simplest fnrm 2X-3)2X+ 3) +7
Solution ) (2x®2x)(3® 3) =4 X* -9 +7=4X>-2

Simplify : (X +2)* + (X - 2) (X +2)

Solution ) (X®X) +(2@x®?2) (2®2)=x2+4x7/
(x®x) 2®-2)=x> 4

2K+ 4%

Find : (2 X~-y) (2 X +y) [ Solution ) 4 x*-y?

Simplify : (X + 3)> - 9 » then find the numerical value when X = 3

|Solution ) Theexpressinn=x2+6x+9-9=x2+6x
Gz [posss5]( -0 The numerical value = 3%+ 6 x3=9 + 18 =27

(3b-4)(3b+4)+35 »then find the numerical value of the result whenb=-2
Solution ) The expression =9 b>— 16 +5=9 b>— 11

The numerical value = 9 x (——2)2— 11=9x4-11
=36-11=25

Simplify to the simplest form : (X + 3)*> - (X + 3) (X - 3)

EXEMahmoud Ezz Al deenEXE T TIN55343956
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=x2+6X+9-(X —9):%2’+6x+9%€2/-|-9=6x+18

Simplify : (2a-3) (2 a+ 3) + 7 » then find the value of the result when a = |
Solution ) ['he expression = 4 a’—-9+7=4a"-2

The numerical value=4 x 12-2=4-2=2

Simplify : 2a(a—4b)+4b(2a-3b) » then find the value of the result at :
a=2+sb=-1,

Thﬂt::lr;pn:ssiﬂt.'.l=?.:12*-8&1}+8al:.~—12]:12
=2a°-12b°

The numerical value = 2 x 2% — 12 x (- 1)2
=2x4-12x1=8-12=-4

Solution

Simplify to the simplest form : (X - 5)>+ 10 X

[solution ) =x? 16X +25+10X=X>+25

Find the productof : 3 X-4y)2X+5Yy)
x(3 X—-4y)
(2X+5 y)
(2x® 3x )(2x X-4y)
(5x® 3x ) (Sy ® - 4y)

6X*+7Xy-20y>

Simplify to the simplest form : (X —-3) (X+ 3) + 9 s then

calculate the numerical value of the result when X =5

EXE Mahmoud Ezz Al deen EXEXE

X01155343956E



PHHEHE6000600060050000600600060560680

Simplify : 3 a (a— b) +4 a (2 a+b) in the simplest form.

|Solution ) 3a-3ab+8a’+4ab=11a*+ab

Simplify : (X-3)(X+3)-9(X-1)
@)X’ -9-9X+9=Xx"-9X

Use the distributive property to find : g ﬁ

[Solution ) (12+1-2)x2=(2%-2)x

Simplify : 2 X+ 5% -4x2-10X

| Solution ) 4X2+20X+25-4X*~10 X=10 X+ 25

Simplify to the simplest form : (X - 3) (X + 3) + 9 » then

T .95 o 2
17 X35 = 2% 45

t-J
S —
..fJ

calculate the numerical value of the result when X=5

Simplify to the simplest form : (2 X - 3) (2 X + 3) + 7 » then calculate the numerical
value of the result when : X=-1

Simplify to the simplest form : (X +2)* = (X +2) (X = 2)

Simplify the following expression to its simplest form :
(X-2—(X+3) (X-3)+512X+1)

Find by inspection method the product of : (X - 2) (X + 2)

Find the productof : 2X-3y)(3X+7y)

Find the productof : 3 X-4y)(2X+5y)

Simplify to the simplest form : (X + 3)> — (X + 3) (X - 3)
Simplify to the simplest form :
3(1-2a)—(a*~5a+3)+2a(a+3)then find the numerical value when a=2
Simplify to the simplest form : (X - 5)° + 10 X
Simplify : (y - 5) (y + 2)

EIMahmoud Ezz Al deen
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Example ) Find the quotient of dividing :
Sa-10a’+6a’+3 by 3+42a’—-4a where the divisor # 0

m 22°—4a+3 | 6a°—10a+5a+3 — N
3a+l © & O Suifioh e i i
ﬁﬂ—]zﬂ' 0ga o € dividend an
e the divisor is in a descending
2a°-4a+3 | order according to the power

A ® O |ofea
2a°—4a+3 \ : _ J

00 00 00

i.e. The quotient =3 a + |

Example B Find the guotient of dividing :
X +X+10 by X+2whereX#-2

- 7 e3 T——
¢ % f'ﬂ gk | Notice that : |

XP-2X+5 532 x? There is no term with X in
_1 JC* x+ 10 dividend » so we leave its
,+, place empty. -
2 %2 —4 X
53X+ 10
. O
5X+10
0o oo

i.e. The quotient = X> -2 X +5

Example If (X - 1) is one of the factors of (X %+ 5 X—6) ythen find the other factor.

m The other factor is the quotient of dividing x—1] xX*+5x-6
x3+5x—ﬁby{x'—l] X+6 “'ﬁ ﬂx
l.e. The other factor is (X + 6)

6X-6
('_:3‘ 'Li:.:'

6X-6
00 00

11155343956
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Divide : (X*>+5 X +6) by (x+2)
X+3

x-+5x+6

exﬁ?zx

X+2

3X +6

@ ©
3X+6

0 0

The quotient = X + 3

: & &

*#.‘.-‘E'.r&ﬁ}i.- SHEGEEES
X*+5X+6 by X+3

X+2

X +5X+6

e ;S
X 33X

X+3

2X +6

@ O
2X+6

0 0
The quotient = X + 2

Divide:63(2+13xlnf+6y2 by 2X+3y

2x+3y| l‘:'v.‘J':ZZ-!-13.‘Jtija'+1.'3y2

3X+2y 6X°+9Xy
4.3'(.'].'+(:3jy2
e .
4Xy+6y
0 0
The quotient=3 X+ 2y

16X*-24Xy+9y> by 4X-3y

4x-3y| 16X*-24 Xy +9y’

4x-3y 16X = 12Xy

-lEJCy+9y2

® o ,
- 12Xy +9y

0 0
The quotient=4 X-3y

Divide : (X*-=5X+6) by (X-3)(where X#3)

Find the quotient of : X*=2%=8 by (X—4)(where X=24)

Find the quotient of : X* +3 X% - X -3 by X? -1 (where X2~ 120)

Divide : 6 X>+ 13 Xy+6y> by 2X+3y (where2X+3y=0)

EXZMahmoud Ezz Al deen
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Divide : 6 X*y -9 Xy*+24 Xy by Xy

6X%y-9Xy*+24Xy _ ﬁx +9y24

Solution Xy Xy Xy =

Divide : 30 X>~25 X2+ 15X by 5 X (where X #0)

30X3-25x2+15X%
Sx SX SX

Solution = 6X*-5X+3

Find the quotient of : 30 a’ b’ -25a°b?>+35ab by 5ab

Solution 30ab>-25a°b*+35ab = 6ab>-5a’b+7
| Sab S5ab 5ab

Divide:x?':,f3--4.7422},!2+6}Cj.f2 by Xy (where: Xy=#0)

Solution ) X’ Y’ -4 X2y* +6Xy* _y2.2 4506y

Xy Xy Xy

The necessary condition to make x5_ 74 rational number is ------oe e
(@) X=-3 (b) X=3 (d) X=5
(@2 +a)+a= e (where a#0)
(a) a (b) 0 (€)2a+1
B Ko .

7 7

(a) 2 (b) X (d) 2 X

EXEMahmoud Ezz Al deen XYY 2 QXX 01155343956



Divide: 2 X° + 11 X>+12X-9 by X+3

2% 48§ %=3
x+3| 22X+ 11 X%4+12X-9

| Solution ) 2 5x3 D16

5x%+12Xx-9

© ,©
SXT+15X

-3X-9

@ @
-3x-9

0 0
The quotient =2 X + 5 X -3

Divide: 10 X*-5x> by 5x? (ifX20)
Divide : X* vy’ -4 X% y*+6 Xy* by Xy (where:Xy=0)

(MAdd:3X-2y+5and2X+y-3
(2) Divide : 6 X° y* + 4 X y* by 2 X y (where Xy 2 0)

Divide: 6 X y*+9X%y* by 3X%y® (where X20,y=0)

Divide : 30 X’ -25 X%+ 15X by 5 X (where X#0)

Find the gquotient of : (X% +5X+6) by (X+2) (whereX#-2)

Find the quotient of : (X -6 X+ 11 X-6) by (X-3)(where X#3)

Divide: 2 X7+ 11 X2 +12X-9 by X+3 (where X#-3)

Find the quotient of : 13 X+ 15+ 2 X% by X+35 (where X#—5)
Find the value of k which makes the expression : 2 X — X* — 5 X+ k divided by 2 X3

Find the quotient : 6 X> - Xy-15y> by 2X+3y (where2X+3y#0)

*@&%&@iﬁ&t&ﬁ?&ﬂlﬁ}@@ﬁiﬁ?
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Factorize by using (H.C.F):3a(a—-2b)+7b(a=2b)

| Solution ) @a-=2b)(3a+7b)

Factorize by taking the H.C.F: 15 X y> + 20 Xty -=28%y
2
|Solution ) 5Xy(@By " +4Xx-5)

Factorize the expression by identifying the H.C.F : 12y’ + 18 y?
| Solution ) 6 y2(2y + 3)

If X+4=4thenfind: X (X+4)+4(4+X)

Where X+4=4 sthen X=0

sthenthe value=0x (0 +4)+4 x (4 +0) _
=0x4+4x4=0+16=16 (X+4) (X+4)=4x4:=16

Factorize by identifying the H.C.F : 3 %2415 % y

| Solution ) IX(X+35y)

Subtract: -5 X from 3 X |So[ution )3x+5x= 8X

Factorize by identifying the H.C.F.: 12 X° +8 X* -4 X
[Solution ) 4 X (3 X*+2 x~1)

By using the highest common factor » find the result of : (17)* -8 x 17 + 17

I Solution ) 17 (17-8+1)=17x10=170

6 6 =g x1=%
S xT+ L x5+ & x (- 11) B L (7+5+C1D) = 35 x 1=

EXEMahmoud Ezz Al deen EXEXEXEX( 3 1 EEXXIA0115534 3956 EXEEET
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Factorize by identifying the H.CF:3a(a-2b)-6b(a-2Db)

s then find the numerical value of the result whena-2b = | % |

[Sotution ) Theexpestion=3(s-20)(3~28)=3/a=20)

The numerical value =3 x (%)2 =3 % %. = u,;_

Factorize by identifying the H.C.F: 6 x* y3 - 12 %2 y4 52 %3 }'3

[Sowtion) 2y’ (3X-6y+1)

Factorize by taking out the H.C.F: 27 X° - 18 X*+ 6 X

| Solution ) 3 X (9 X*—6 X +2)

Simplify : 3 (1-2X) - (X*-5X+3)+2X(X+3)

» then find the numerical value of the result when X =-1

3-6X-Xt+5X-3+2x*+6xX=X%+5x
ISoiution) e

The numerical value = (—1)2+ 5--1)=1-5=-4
Factorize by identifying the HCF:a(a-2b)-2b(a-2b)
Solution ) (a—2b)(a—2b)=(a—2b)’

Factorize by identifying the HC.F:a(a-2b)-2b(a=2b)

» then find the numerical value of the result when (a—2 b) = 1

3
| Solution ) (a—2b)(a—2b)=(a—2b)

- 4 i
at(a—-2b)= 3 The numerical value = (L) N %

3
EXAMahmoud Ezz Al deen XEXYEYE 3 2 FXXXTXN115534 3956 EXIE)
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We know that any triangle has three sides and three angles which are known as the six
elements of the triangle.

For example :

A ABC has three sides which are : AB » BC and AC and
it has three angles whichare: ZAsZBand £ C

Therefore :

A

The two triangles are congruent if each element of the 6 elements of one of them is
congruent to the corresponding element in the other triangle and vice versa.

e To test whether two triangles are congruent or not, you don't need to
test all the three sides and the three angles.

The cases of congruence of two triangles

Case (1)

Case (2) Case (3) Case (4)

Two sides and the Two angles and one . Hypo'rfanuse ar.id one
. ; Three sides side in the right-
included angle side E— -

angled triangle
S. A.S. A. S. A. S.S.S. R. H. S.

Two triangles are
congruent if two
sides and the
included angle of one
triangle are
congruent to the
corresponding parts
of the other friangle

Two triangles are
congruent if_two
angles and the side

Two triangles are
congruent if each
side of one triangle is

drawn between their
vertices of one
triangle are
congruent to the
corresponding parts
of the other triangle

congruent to the
corresponding side of
the other triangle

Two right-angled
triangles are

congruent if the

hypotenuse and a
side of one triangle
are congruent to the
corresponding parts
of the other triangle

O ~

If each angle of one triangle is congruent to the corresponding angle of the other
triangle » it is not necessary for the two triangles to be congruent.

O~




P Mathematics 15" Prep 15" term |

t 4 Hi-

Prove that AABC=ADEF
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F E C B
Prove that AABC=ADEF

D A
A /\
F E C B
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Prove that AABC=ADEF

[1] In each of the following figures, show if the two triangles are
congruent or not. If they are congruent, name the case of
congruence. If they aren't congruent, give reason. (given that
the similar signs denoted the congruency of the elements marked
by these signs).

1 C
@ [0 A p| @) A @ [0 B
: N
A\/y D
C
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@ 3 @/\ ® b
R
X 4 D B @s
v \\)/ o
F C
@y E 4 e (M A
SN <D
A B ¢
6@ (L F S R A |as D ;
A
B ¢ ‘ ’ ®
as 1 - a9 X
D F
F
A C
L M D
G j A
E D C B
D
(m)/\\
C . E, A
F"C\/("//
B
A @
A
D
D
E‘ b C E B
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@9
A
M
c E B

[2] Answer the following:

(1) In the opposite figure:
These triangles are congruent
sthen X = --eveeel®

(2) In the opposite figure:

If:AB=AD »BC=7cm. »m (£ BAC) = m (£ DAC) = 25°
and m (£ B)=30°

Complete the following :

(DAACB=A oo @mELD)=n :

@) CD=-n cm. (4) m(L ACD) = rvone o
3) In the opposite figure:

If:CDNBA={F},FA=FB ,CF=FD »
m (£ CFB) = 35° and m (£ B) = 100° »
thenm(LD)= .......... o

4) In the opposite figure:
F:BC=FDsm(£LA)=m (£ E)=95°,
m (£ B)=35° ym (£ D) =50° and FE = 7 cm.

Complete the following :
MmMLC)= e ° @mLF) = o (HAABC=-oo
@AC=- e (B)AB = oo cm.

= 79
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(5) In the opposite figure: D A
If : AB = DC » AC = DB and m (£ A) = 30° 4
Complete the following :
(MDAABC=A -
@m(LD)= °
@ mLDBC) =m (L - )

(6) In the opposite figure:

C is the midpoint of BD»AC LBD »
AB=5cm.and m{L B)=357°
Find : (1) The length of AD

(& m (£ DAC)

7) In the opposite figure: A
AD = DC »m (£ ADB) = 40° »m (£ DBC) = 30° » > »
m (£ BCD) = 110° and AB = 7 cm. B D
Find : (1) The length of BC (8)m (£ BAD) 11
C
{ 80 }
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(8) In the opposite figure: A
BA=BC ,DA=DC (10
D B
m (£ ADB) = 50° and w
m (£ BAD) = 110° N
Find : m (£ ABC)
(9) In the opposite figure: B ¢
ABNCD={E}AE=EDand LA=4D M
Is AACE= ADBE ? Why ? \ 4
Prove that : CE =EB
(a1}
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[3] Choose the correct answer:

(1) The following triangles are congruent except -+

(@) (b) (©) (d)

(2) The following triangles are congruent except -

(b) () @

(a)

(3) The following triangles are congruent except -

= N\ - *
. 2
- & M &
* *
. 4cm.
) b

4cm

4cm Jem.

(a (b) (c) (d)

(4) The pair of congruent triangles of the following triangles is -~

Aa Db A EZ

(5) In the opposite figure :

A
The necessary and enough condition 7 Y
which makes the two triangles ABC and XYZ
be congruent is -+
C B
X

(2) BC=YZ (b) AC = XZ
©OmELCO=m(LZ) (dm(LB)=m(L2Z)

L 82
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[4] Complete the following:

(1) If:AABC=AXYZ »m(£A)=50°and m (£ B)=60° sthen: m (£ Z) = s

(2) 1f:AABC= ALMN sm(ZL)=40°and m(Z B)=90° sthen: m (£ C) = - .

(3) H:AABC= AXYZandm (ZA)+m (£ B)=120° sthen:m (£ Z) = -ron °

(4) If:AABC= ADEFandm (£ C)=90° sthen: m (£ D) + m (£ E) = oveee®

(5) If : AABC= AXYZ > the perimeter f AABC=12cm. s XY=4cm.andYZ=5cm. »
then : AC = weevevee-

(6)  Any two triangles are congruent if each «------ is congruent to its corresponding side
in the other triangle.

(7)  Any two triangles are congruent if two angles and --------- in one of the triangles are
congruent to their corresponding elements in the other.

(8) The diagonal of the rectangle divides its surface into two «------ triangles.

(9) KAABC=AXYZ thenAB = andm (L Z)=m (£ - )

(10) 1f: AB=1LM ; BC =MN and m (£ B) = m (£ M) » then the two triangles -+

and -0 will be congruent.

OO ~

83
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Shee: (6]
Parallollsm

Angles Formed from two straight lines and a transversal:

If a straight line N cuts two straight

lines L and M as shown in the opposite T
figure, then we get eight angles.
We can classify these angles into pairs [ - 21 -
of angles: 34
e Alfernate angles. M
e Corresponding angles. ‘-—-___g__gﬁ__\“
e Interior angles on the same side
of the transversal. Y
As follows
(1)  Pairs of alternate angles:
N N
L T L T
M-______Q M-—_._____S
—— ——
(2) Pairs of corresponding angles:
N N N N
L T L T L ] L 3
M..______—-E-.------mh M_._*_f-_\ M‘__\L--..-‘ M“'---.._@___________‘
(3) Pairs of interior angles on the same side of the transversal

N

Mewe___ |

84

N

M‘_.__g

—
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Relation between pairs of angles formed from two
parallel straight lines and a transversal to them

If a straight line intersects two parallel lines, then:

(1) Each two alternate angles are equal in measure.

(2) Each two corresponding angles are equal in measure.

(3) Each two interior angles in the same side of the fransversal are

supplementary.

O~

In each of the following figures, find the measure of the angle which

is marked by (?) qiving reason:

RE]

85
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86
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The condition of parallelism of two straight lines

The two straight lines are parallel if a third straight line intersects them
(as a transversal) and one of the following cases satisfied:

(1) Two alternate angles have the same measure.

(2) Two corresponding angles have the same measure.

(3) Two interior angles in the same side of the fransversal are

supplementary.

In each of the following figures, why is

ﬁ//ﬁ?

B A
53
E
125,
C D
(3)
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Geometric facts

(1) The perpendicular to one of fwo parallel straight lines is
perpendicular to the other.

(2) If two straight lines are perpendicular to a third one, then the two
straight lines are parallel.

(3) If two straight lines are parallel to a third one, then the two
straight lines are parallel.

(4) If parallel straight lines divide a straight line intfo segments of
equal lengths, then they divide any other line into segments of equal
lengths.

If L1 // L2 // Ls // L,

and M; and M. are two transversal

in which:

AB = BC = CD,
then:

EF = F6 = GH

OO ~

Complete using the given shown in the following figures:

D A
A
- o % o
2
Y > X D
§ N — \H
) /< \
» »

C B B C
DY = ..c..........Cm AC= ... cm
OO~

L 88
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[1] Choose the correct answer:

(1) In the opposite figure:
B EAC , BE // CD and m (£ ABE) = 130°

Then m (£ C) = «revreee
(a) 130° (b) 40°
(c) 50° (d) 90°

o
130 E

(2) In the opposite figure:

BE bisects 2 ABC » BA // CD and
m(LABE)=32° sthenm (L C) = ---oeee-
(a) 32° (b) 64°

(c) 60° (d) 80°

(3) In the opposite figure:
AB // CD »m (£ EAC) = 130°
and m (£ EAB)=90° sthenm (£ C) = ---oee
(a) 90° (b) 130°
(c) 140° (d) 40°

(4) In the opposite figure:
AB//DE »m (£ D) = 128°
m (£ A)=m (£ B)and CEAD sthenm (£ B) =
(a) 64° (b) 128°
(c)52° (d) 26°

(5) In the opposite figure:
AB//CD »AB//EF sm (£ A) = 60° and
m (£ E) =35° sthenm (£ ACE) = ---o-
(a) 60° (b) 35°
(c) 95° (d) 85°

(6) In the opposite figure:
m (£ D) =45° , DE // CA and
CD // BF »then m (£ ABF) = .voorn
(a) 45° (b) 90°
(c) 135° (d) 40°
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(7) In the opposite figure:
AX //BY //CE /I DF

/ X A
AB=BC=CD ng 5
and XE =6 cm. /

/ \

» then the length of YF = --r-....
(a) 3 em. (b) 6 cm. ! -
(c) 12 cm. (d) 9 cm.

D

(8) In the opposite figure:
AB//CF /I DE »
m (£ A) = 120° and m (£ D) = 85° »
then m (£ ACD) = -c-neeor
(a) 60° (b) 85°
(c) 25° (d) 120°

(10’ In the opposite figure:
CD// BA ,DE//CB
sthen : X=-oeee
(a) 60° (b) 45°
(c) 120° (d) 90°

O T~
[2] Complete:

A _B
E D 120
85
C F
(9) In the opposite figure:
What is the value of X 7 2X
(a) 40° (b) 60°
(c) 80° (d) 100° 80
C D
X
3X K
A B

(1) [ The straight line which is perpendicular to one of two parallel straight lines is
---------- to the other straight line in the plane.

(2) [ If two straight lines are parallel to a third straight line » then they are ---------

(3) If a straight line cuts two parallel straight lines » then each two alternate
angles are -+

(4) If a straight line cuts two parallel straight lines > then each two corresponding

90
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(5) If a straight line cuts two parallel straight lines » then each two interior angles in the
same side of the transversal are ----------

(6) M astraight line cuts two straight lines and there are two corresponding angles
having the same measure » then the two straight lines are ---------

(7) If a straight line cuts two straight lines and there are two alternate angles having the
same measure » then the two straight lines are -

(8) If a straight line cuts two straight lines and there are two interior angles in the same
side of the transversal are supplementary » then the two straight lines are -+

(9) If a straight line cuts several parallel lines and the intercepted parts of this
transversal between these parallel straight lines are equal in length » then the
intercepted parts for any transversal are -+

O~

[3] Answer the following:

(1) In the opposite figure:
AO//HD// YX //CB
yAD =DX =XB
and AC =18 cm.

Find the length of AY
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(2) In the opposite figure: A B

— —_— — 420
AB/CD,EF//CD :
E

sm{£LA)=42°and m (£L C)=117° F
Determine : m (£ AEC)

3) In the opposite figure:
m (£ A)=40° sm (£ E) =55°

AB//EF and AB // CD

Find : m (£ ACE)
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4) In the opposite figure:
AD//BC EECA »
m (£ DAE) = 70° and m (£ DAB) = 50°

Find the measures of the triangle ABC

(5) In the opposite figure: B A
e —— — 33
AB//CD //EF »m (£ A) = 35° and C; D
CD bisects 2 ACE
Find : (1) m (£ DCE) (2 m (£ CEF) E F
L 93
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In the opposite figure:
AE //CB »BA//CD »

(6)

56 D

AF bisects 2 BAE and m (£ EAF) = 56° .
Find : m (£ C)

[4] Find the value of x:

|

|
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Q1: Choose the correct answer:
1) If%x y= %,theny= ............

(@)1 (b) zero (c) 4 d) 7
2) The number that has no multiplicative inverse is ...........

(@)1 (b) zero (c) -1 d) 2
3) If 3 =2, then g—;= .........

o1 oy 5 @
4) lf%=70,then %=. .........

(a) 35 b 68 (© 72 d) 140
5) Ifl:_l =3, thenx=........

(a) 4 b (© 12 (d) +12
6) If%x= 10,then;_x= ........

@1 b zero c) 4 (@5
7) The number that lies in the middle of the way between % and % IS ceeerens

@1 )2 - . @1
8) If the alg__.ebraic term: 9 xy" is of third degree, thenn=.......

(@)1 b) 2 (©)3 d 4
9)If5x"+2x"=7x%,thenm+n=........

@3 b) zero (c) 12 d) 8
10) 4 x increases (- 4 x) by .............

(@) 8x (b) zero (c) -8x (d) 16 x

\_  _Jjay ¢ 4




i /FI RST-ALGERBA

11) % =1, then 2x -2y = ...........

@1 b) 2 (c) -2 (d) zero
12) The algebraic term 4 a’?y? is of the ............ degree.
(a) second b) third (c) fifth (d) fourth
13) The number that lies at half distance between % and % -
@2 53 o 4
14) Multiplicative inverse of the number (% )°iS cerennenes
(@2 (b) -2 ©1 (d) -1
15) The perimeter of the rectangle whose dimensions are 8x , 5x is .............
(a) 40 X2 b 13x (c) 40 x (d) 26 x
16) The additive inverse of X -5 is ..........
(@) X-5 b -X-5 (c)-X+5 d)5

Q2: Complete the following:
1) 3a+4 bdecreasesthan5b +3aby.................

yS
2)75 +V = e, ,Y# 0
3) The coefficient of the algebraic expression (-2)° ........ and its degree is .......
4) 2 m* +......... = zero

6) 4 x decreases 7 X by ....cccevveeennen.
7) The degree of the absolute term in any algebraic expression is ..............

8) 5a’b- .......... =7 a’b

a-1
7

B B

9) The rational number has a multiplicative inverse ifa # .............
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Q3: Answer the following:

1) Use the distribution property to find the value of: % x3 + % x5- 2

7

2) Find the value of: (% + % ) x%

3) Find the rational number lying at on third of the way between % , 1%

from the side of the smaller number.
4) Subtract:5a+3b-1from5a-3b-1

5) Thesumof:3x>-4x+3and -x>+3x-3

6) If x= %, y =% and z = -3, Find the value of: xy +yz

7) Subtract: 5x*-4x+ 11 from3 x*+5x

8) Use the distribution property to find the value of: % X % + % X % +%

9) Reduce the following algebraic expression to its simplest form:
a’+3a-4+4a*-5a+1

10) Add 3 x>-5+2x,x+5x*+7and-4x*-3

,Then find the numerical value of the result when: x = 2

a T

The only way
toLearn ‘ o
mathematics AMED v

is to do
mathematics
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Q1: Choose the correct answer:

1) If L, and L, are to coplanar straight lines where L N L, =@,

Then L1 and Lzare .........

(a) intersecting  (b) perpendicular (c) parallel (d) coincident
2) If AABC=ALMN, then, m(«B) = m(< ........... )
(@) LMN ‘b) MNL (c) LNM (d) NLM

3) In the opposite figure:
AB // CD, m( £ EAC) = 130° and m( £ EAB) = 90°
thenm(«£C)=...........

(@) 90° b) 40°
(c) 130° (d) 140°
4) In the opposite figure:
What the value of x? ,
(@) 40° b) 60° —
(c) 80° (d) 100° [s&’ \
5) In the opposite figure:
CD//BA, DE // CB, then: x = .......... 5 D
(@) 60° (b) 45°
(c) 120° (d) 90° —
6) The two straight line perpendicular to a third straight line is the same
plane are ..................
(a) perpendicular (b)intersecting  (c) parallel (d) coincident

oMdmslea 0 QEERY
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7) IFAABC =A LMN, m(£A) = 50°, m(£M) = 60°, m(£C) = ........

(@) 60° (b)50° (c)70° (d) 10°
8) f AABC=A LMN, then AC=.......
(a) MN (b)LN (M d) AB
9) If two triangle ABC and XYZ are congruent, then ...........
(a) BC=XZ (b)YX =CA (c)ZY=CB (d) AB=YZ
10) If L and L, are to coplanar straight lines, L L L and L, L L, then ...........
@t //L, bl LL, (c) L, intersects L, (d) L is coincides L,
11) If L, and L, are to coplanar straight lines, L, //L,, L, L L,
then, L, ..............., L
DL oY ()= @ =
12) If AABC=AXYZ and m(<«£X) + m(£2Z) = 140°, m(<£B) = ...........
(a) 70° b)220° (c)40° (d) 140°
13) If AABC =AXYZ and m(Z£A) + m(«£B) =130°, m(£ 2Z) = ...........
(a) 50° b)65° (c)130° (d) 180°
14) If AABD = A ACD, AD =5 cm, The perimeter C
of the figure ABDC =30 cm, Then the perimeter \
of AABD =........ cm B - A
(a) 35 b) 15

(c) 30 (d) 20
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Q2: Complete the following:

1) The two right-angled triangles are congruent if ....................
2) ABCD is a parallelogram, m(«A) = 60° , then m(«£B) = ................
3) The diagonal of the rectangle divides its surface into two ............ triangles.
4) If two straight lines are parallel to a third straight line, then they are ..........
5) The straight line that is perpendicular to one of two parallel lines in
the same planeiis ................ to the other.
6) The two triangles are congruent if two sides and .............. are congruent
with corresponding parts in the other triangle.
7) If straight line intersects two parallel straight lines, then each two
alternate angles are ........c.ccuuu....
8) If AB n CD = &, in the same plane, then .................
9) If a straight line cuts two parallel straight lines, then each two
interior angles are ....................
10) If a straight line cuts two lines and there are two interior angles in
the same side of the transversal are supplymentray, then the two

straight lines are ...............

% gt—.’ -1 Uy u.'ﬁ,l.v' Wl
A/ :f; .uﬂ/:%:)’/ ¥
[
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Q3: Answer the following:
1) In the opposite figure:
AF //DE // XY //BC, AD = DX = XB, AC = 9 cm.
Find: The length of AY

|

" qu/_AxD
AN

2) If DE // CA, m( £ D) = 125°, m( £ A) = 550
Find m(«C)

559

3) In the opposite figure:

m(£LA) =m(£C)=90°, AB=BC=5cm, AD =3 cm.

a) Prove that: AABD = ACBD
b) Find: the length of CD

4) In the opposite figure:

AB // DC; m(£EBC) = 53°, m(~D) =127°,
Is BC // AD ? State the reason

5) A_ﬁll &, AD bisects . BAE
, m(£B)=52°,
Find m( £BAD), m(« Q)
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ANSWER MODEL

Q1: Choose the correct answer:

1) c 6) c
2)a 7)c
3)b 8) b
4) a 9)c
5)b 10) a

Q2: Complete the following:

1) hypotenuse and one side

of them congruent to another.
2) 120°
3) congruent

4) parallel

5) perpendicular

11) a
12) c
13) a
14) d

6) included angle

7) equal in measure
8) AB // CD

9) supplementary

10) parallel
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ANSWER MODEL

Q1: Choose the correct answer:

1) a 6) d 11)d 16) c
2) b 7)c 12)d
3)a 8) b 13)d
4) a 9)c 14) c
5) c 10) a 15)d

Q2: Complete the following:

1) b 6) 3x

2) 2y? 7) zero
3) -2 , zero 8)-2a%
4) -2 m? 9)1

5) 11
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